If the Titanic was unsinkable, why then did it sink?
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The weather was so bad, there were
icebergs everywhere.
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The rivets (like nails) holding the
ship together were not strong
enough
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The owner of the Titanic wanted to
show that it could reach New York
in just 6 days.
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The captain of the Titanic, Captain
Smith, ignored 7 iceberg warnings
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People did not listen to the
warnings on the radio.
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Titanic hit an iceberg.
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Titanic was unlucky to hit the
icebergs at an angle. This did more
damage.
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It was bad luck
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The captain let the ship go too fast
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A nearby ship ignored the Titanic's
rockets, switched off its radio and
didn't go to help her.
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